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1. tc MRPS = 0 gks] rks mRikn gSa % 
 

1. When MRPS = 0, then products are : 

(A) laiwjd  (A) Complementary 

(B) izfr;ksxh  (B)  Competitive 

(C) iwjd  (C)  Supplementary 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

2. tc TPP vf/kdre gksrk gS] rks MPP gksrk  

gS % 

 
2. When TPP is maximum, MPP is : 

(A) vf/kdre  (A) Maximum 

(B) APP ds cjkcj  (B)  Equal to APP 

(C) ‘kwU; ds cjkcj  (C)  Equal to Zero 

(D) _.kkRed  (D)  Negative 

3. vkSlr HkkSfrd mRiknu] lhekar HkkSfrd mRiknu 

ds cjkcj gksrk gS] tc % 

 
3. APP is equal to MPP, when : 

(A) lhekar HkkSfrd mRiknu c<+ jgk gS  (A) MPP is increasing 

(B) lhekar HkkSfrd mRiknu vf/kdre gksrk 

gS 

 (B)  MPP is maximum 

(C) vkSlr HkkSfrd mRiknu U;wure gksrk gS  (C)  APP is minimum 

(D) vkSlr HkkSfrd mRiknu vf/kdre gksrk 

gS 

 (D)  APP is maximum 
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4. Qyu Y Xa b   esa] Y vkSj X ds chp 

lEcU/k gS % 

 
4. In a function Y Xa b  , relationship 

between Y and X is : 

(A) _.kkRed  (A) Negative 

(B) /kukRed  (B)  Positive 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

5. tc vkSlr HkkSfrd mRiknu c<+ jgk gS] rks 

lhekar HkkSfrd mRiknu dk mRiknu Qyu esa 

D;k O;ogkj gksxk \ 

 
5. When APP is increasing how does the 

MPP will behave in a production  

function ? 

(A) vkSlr HkkSfrd mRiknu   lhekar 

HkkSfrd mRiknu 

 (A) MPP > APP 

(B) vkSlr HkkSfrd mRiknu   lhekar 

HkkSfrd mRiknu 

 (B)  MPP < APP 

(C) vkSlr HkkSfrd mRiknu  lhekar 

HkkSfrd mRiknu 

 (C)  MPP = APP 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

6. ykxr fLk)kUr ds vuqlkj] vYidky esa ldy 

vk; dks vo’; vkPNkfnr djuk  

pkfg, % 

 
6. As per the cost principle, in short-run 

gross return must cover : 

(A) LFkk;h ykxr  (A) Fixed Cost 

(B) volj ykxr  (B)  Opportunity Cost 

(C) vLFkk;h ykxr  (C)  Variable Cost 

(D) dqy ykxr  (D)  Total Cost 
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7. Qyu Y Xd b   esa] Y gS % 
 

7. In a function, Y X, Yd b   is : 

(A) Lora= pj  (A) Independent variable 

(B) vkfJr pj  (B)  Dependent variable 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

8. la;qDr mRikn ds lUnHkZ esa mRiknu lEHkkouk 

oØ gksrk gS % 

 
8. In case of joint product, the production 

possibility curve is : 

(A) „L‟ vkdkj  (A) „L‟ shaped 

(B) mYVk „L‟ vkdkj  (B)  Inverted „L‟ shaped 

(C) urksnj  (C)  Concave 

(D) „U‟ vkdkj  (D)  „U‟ shaped 

9. mRiknu Qyu ;kstuk esa le&foPNsn fcUnq ij 

fdlku dks ykHk gksrk gS % 

 
9. At the break-even point in production 

function programme, the profit to the 

farmer is : 

(A) ‘kwU;  (A) Zero 

(B) _.kkRed  (B)  Negative 

(C) /kukRed  (C)  Positive 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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10. tc QkeZ ij u;h fdLesa viuk;h tkrh  

gSa % 

 
10. When a new crop variety is  

introduced on a farm : 

(A) iw.kZ ctV cukuk pkfg,  (A) Full budgeting is must 

(B) vkaf’kd ctV cukuk pkfg,  (B)  Partial budgeting is done  

(C) ctV dh vko’;drk ugha gS  (C)  No budgeting is needed 

(D) dsoy fu;kstu fd;k tkrk gS  (D)  Only planning is done 

11. fuEufyf[kr esa ls dkSu&lk [ksrh dk izdkj ugha 

gS \ 

 
11. Which of the following is not a type of 

farming ? 

(A) ‘kq”d [ksrh  (A) Dry farming 

(B) la;qDr [ksrh  (B)  Joint farming 

(C) pjkxkg [ksrh  (C)  Ranching 

(D) fefJr [ksrh  (D)  Mixed farming 

12. fuEufyf[kr esa ls dkSu&lh js[kh; izksxkeu dh 

fo’ks”krk gS \ 

 
12. Which of the following is assumption of 

liner programming model ? 

(A) foHkkT;rk  (A) Divisibility 

(B) ;ksx’khyrk  (B)  Additivity 

(C) js[kh;rk  (C)  Linearity  

(D) mi;qZDr lHkh  (D)  All of the above 
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13. izk;% izkd`frd lalk/kuksa dks oxhZd`r fd;k 

tkrk gS % 

 
13. Natural resources are often classified  

into :  

(A) uohdj.kh; lalk/kuksa esa  (A) Renewable resources 

(B) vuohdj.kh; lalk/kuksa esa  (B)  Non-renewable resources 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

14. fuEufyf[kr esa ls dkSu&lh [ksrh dh iz.kkyh 

ugha gS \ 

 
14. Which of the following is not a system of 

farming ? 

(A) jktdh; [ksrh  (A) State farming 

(B) lgdkjh [ksrh  (B)  Cooperative farming 

(C) la;qDr [ksrh  (C)  Joint farming 

(D) ‘kq”d [ksrh  (D)  Dry farming 

15. Hkfo”; dh ?kVukvksa esa lansg dh fLFkfr ftlesa 

Bhd&Bhd vuqeku u yxk;k tk lds] mls 

tkuk tkrk gS % 

 
15. A state of being doubtful about future 

events which cannot be foreseen exactly 

is known : 

(A) tksf[ke  (A) Risk 

(B) foHksnd tksf[ke  (B)  Differential risk 

(C) vfuf’prrk  (C)  Uncertainty 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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16. vFkZ’kkL= ds tud ds :i esa fdls tkuk tkrk 

gS \ 

 
16. Who is considered as the father of 

Economics ? 

(A) ts- ,l- fey  (A) J. S. Mill 

(B) ek’kZy  (B)  Marshall 

(C) ,Me fLeFk  (C)  Adam Smith 

(D) ihxw  (D)  Pigou 

17. ^ekbØks* ,oa ^eSØks* ‘kCn fdl vFkZ’kkL=h }kjk 

fn;s x;s gSa \ 

 
17. The terms „Micro‟ and „Macro‟ are given 

by the economist : 

(A) ,Me fLeFk  (A) Adam Smith 

(B) ek’kZy  (B)  Marshall 

(C) ts- ,e- dhUl  (C)  J. M. Keynes 

(D) jsxukj fÝ   (D)  Ragnar Frisch 

18. nqyZHkrk dk fu;e iz;ksx fd;k tkrk gS % 
 

18. The law of scarcity applies to : 

(A) d`f”k esa  (A) Agriculture 

(B) xjhc vFkZO;oLFkk esa  (B)  A poor economy 

(C) iw¡thoknh vFkZO;oLFkk esa  (C)  A capitalist economy 

(D) lHkh vFkZO;oLFkkvksa esa  (D)  All economies 

19. nqyZHkrk lEcU/kh ifjHkk”kk nh xbZ % 
 

19. Scarcity definition is given by : 

(A) fy;ksusy jkWfcUl }kjk  (A) Lionel Robbins 

(B) ek’kZy }kjk  (B)  Marshall 

(C) ihxw }kjk  (C)  Pigou 

(D) ,Me fLeFk }kjk  (D)  Adam Smith 
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20. mi;ksfxrk@rqf”Vxq.k dk rkRi;Z gS % 
 

20. Utility implies : 

(A) LokLF;  (A) Health 

(B) vkuUn  (B)  Pleasure 

(C) mi;ksfxrk  (C)  Usefulness 

(D) vko’;drk dks larq”V djus dh ,d 

oLrq dh {kerk 

 (D)  A commodity‟s power to satisfy 

wants  

21. tc lhekUr mi;ksfxrk ‘kwU; gksrh gS rks dqy 

mi;ksfxrk gksrh gS % 

 
21. When Marginal utility is zero, total utility 

is : 

(A) vf/kdre  (A) Maximum 

(B) U;wure  (B)  Minimum 

(C) ‘kwU;  (C)  Zero 

(D) _.kkRed  (D)  Negative 

22. fuEufyf[kr esa ls dkSu&lk xkWlu dk izFke 

fu;e dgykrk gS \ 

 
22. Which of the following is called as 

Gossen‟s first law ? 

(A) ?kVrh gqbZ lhekUr mi;ksfxrk dk fu;e  (A) Law of diminishing marginal utility 

(B) le&lhekar mi;ksfxrk dk fu;e  (B)  Law of equimarginal utility 

(C) izfrLFkkiu dk fu;e  (C)  Law of substitution 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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23. oLrq dh vafre bdkbZ ls izkIr mi;ksfxrk dks 

dgrs gSa % 

 
23. Utility derived from last unit of goods is 

called :  

(A) dqy mi;ksfxrk  (A) Total utility 

(B) lhekar mi;ksfxrk  (B)  Marginal utility 

(C) vkjfEHkd mi;ksfxrk  (C)  Initial utility 

(D) ‘kwU; mi;ksfxrk  (D)  Zero utility 

24. le&lhekar mi;ksfxrk dk fu;e vU; :i esa 

tkuk tkrk gS % 

 
24. Law of equi-marginal utility is otherwise 

called as : 

(A) vf/kdre larqf”V dk fl)kUr  (A) Law of maximum satisfaction 

(B) mnklhurk dk fu;e  (B)  Law of indifference 

(C) xkWlu dk f}rh; fu;e  (C)  Gossen‟s second law 

(D) mi;qZDr lHkh  (D)  All of the above 

25. lkekU;r;k ,d miHkksDrk viuh vk; dks bl 

fu;e ds vuqlkj [kpZ djrk gS % 

 
25. In general, a consumer spends his income 

in accordance to the : 

(A) ?kVrs gq, lhekar mi;ksfxrk dk fu;e  (A) Law of diminishing marginal utility 

(B) le&lhekar mi;ksfxrk dk fu;e  (B)  Law of equi-marginal utility 

(C) miHkksDrk dh cpr  (C)  Consumer‟s surplus  

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

26. miHkksDrk dh cpr dh vo/kkj.kk nh  

x;h % 

 
26. The concept of consumer‟s surplus is 

given by : 

(A) ,Me fLeFk }kjk  (A) Adam Smith 

(B) ek’kZy }kjk  (B)  Marshall 

(C) ihxw }kjk  (C)  Pigou 

(D) jkWfcUl }kjk  (D)  Robbins 
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27. Øeokpd mi;ksfxrk fo’ys”k.k dk izfriknu 

fd;k x;k % 

 
27. Ordinal utility analysis was developed  

by : 

(A) lSE;wYlu }kjk  (A) Samuelson 

(B) ek’kZy }kjk  (B)  Marshall 

(C) ts- vkj- fgDl o vkj- ts- Mh- ,yu 

}kjk 

 (C)  J. R. Hicks and R. J. D. Allen 

(D) ihxw }kjk  (D)  Pigou 

28. ,d rVLFkrk oØ iznf’kZr djrk gS % 
 

28. An indifference curve represents : 

(A) dsoy ,d oLrq  (A) Only one commodity 

(B) dsoy nks oLrq,¡  (B)  Only two commodities 

(C) nks ls de oLrq,¡  (C)  Less than two commodities 

(D) pkj oLrq,¡  (D)  Four commodities 

29. rVLFkrk oØ ges’kk gksrk gS % 
 

29. Indifference curve is always : 

(A) ewyfcUnq ds urksnj  (A) Concave to the origin 

(B) ewyfcUnq ds mUurksnj  (B)  Convex to the origin 

(C) „L‟ vkdkj  (C)  „L‟ shaped 

(D) ,d lh/kh js[kk  (D)  A straight line 

30. ek¡x ds fu;e ds vuqlkj dher vkSj ek¡x ds 

chp lEcU/k gksrk gS % 

 
30. According to the law of demand, the 

relation between price and demand is :  

(A) mYVk  (A) Inverse 

(B) lh/kk  (B)  Direct 

(C) /kukRed  (C)  Positive 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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31. ek¡x dk fu;e lEcfU/kr gksrk gS % 
 

31. Law of demand is concerned with : 

(A) O;fDrxr ek¡x ls  (A) Individual demand 

(B) cktkj ek¡x ls  (B)  Market demand 

(C) la;qDr ek¡x ls  (C)  Joint demand 

(D) laiwjd ek¡x ls  (D)  Complementary demand 

32. tc ek¡x csykspnkj gksrh gS rks dher yksp dh 

ek=k D;k gksrh gS \ 

 
32. What is the value of price elasticity, when 

demand is inelastic ?   

(A) ,d  (A) Unity 

(B) ,d ls de  (B)  Less than One 

(C) ,d ls vf/kd  (C)  Greater than one 

(D) ‘kwU;  (D)  Zero 

33. ?kfV;k oLrq ds fy, ek¡x dh vk; yksp gksrh 

gS % 

 
33. Income elasticity of demand for an 

inferior commodity is :  

(A) /kukRed  (A) Positive 

(B) _.kkRed  (B)  Negative 

(C) vuUr  (C)  Infinity 

(D) ‘kwU;  (D)  Zero 

34. mRiknu dk rkRi;Z gS % 
 

34. Production refers to : 

(A) mi;ksfxrk dks u”V djuk  (A) Destruction of utility 

(B) mi;ksfxrk dk l`tu djuk  (B)  Creation of utility 

(C) fofue; ewY;  (C)  Exchange value 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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35. Je dk iqjLdkj gksrk gS % 
 

35. Reward paid to labour is : 

(A) C;kt  (A) Interest 

(B) ykHk  (B)  Profit 

(C) etnwjh  (C)  Wages 

(D) yxku  (D)  Rent 

36. vkSlr ykxr dk vkdkj gksrk gS % 
 

36. The shape of average cost is : 

(A) lery  (A) Flat 

(B) lh/kk  (B)  Perpendicular 

(C) „U‟ vkdkj  (C)  „U‟-shaped 

(D) xksy   (D)  Circular 

37. LFkk;h ykxr bl vU; uke ls Hkh tkuh tkrh 

gS % 

 
37. Fixed cost is also known as : 

(A) Åijh ykxr  (A) Overhead Cost 

(B) okLrfod ykxr  (B)  Real Cost 

(C) dk;Z’khy ykxr  (C)  Working Cost 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

38. leksRikn js[kk dks bl vU; uke ls tkuk 

tkrk gS % 

 
38. Isoquant is also known as : 

(A) mRikn vuf/keku oØ  (A) Product indifference curve 

(B) mRikn lEHkkouk oØ  (B)  Poduction possibility curve  

(C) le&lk/ku oØ  (C)  Iso resource curve 

(D) dher js[kk  (D)  Price line 
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39. ,d gh js[kkfp= ij vusd leksRikn js[kk,¡ ,d 

lkFk gksus ij dgykrk gS % 

 
39. A number of isoquants on the same graph 

is called : 

(A) mRikn vuf/keku oØ  (A) Product indifference curve 

(B) mRiknu lEHkkouk oØ  (B)  Production possibility curve 

(C) le&lk/ku oØ  (C)  Iso-resource curve 

(D) leksRikn eSi  (D)  Iso-quant map 

40. 
1 2

MRTSx x   O;Dr fd;k tkrk gS % 
 

40. 
1 2

MRTSx x  is given by : 

(A) 1

2

X

X




 }kjk 

 
(A) 1

2

X

X




  

(B)  2

1

X

X




 }kjk 

 
(B)  2

1

X

X




  

(C)  2 1X . X   }kjk  (C)  2 1X . X    

(D)  2 1X X    }kjk  (D)  2 1X X     

41. leksRikn oØ ds lanHkZ esa fuEufyf[kr esa 

dkSu&lk dFku lR; gS \ 

 
41. Which of the following statements is true 

with reference to isoquant ? 

(A) leksRikn oØ ewyfcUnq ds mUurksnj 

gksrk gS 

 (A) It is convex to origin 

(B) ;s ,d nwljs dks ugha dkVrs gSa  (B)  They do not intersect to each other 

(C) <ky nks lk/kuksa ds izfrLFkkiu dh lhekar 

nj n’kkZrs gSa  

 (C)  Slope indicates MRTS of two 

resources 

(D) mi;qZDr lHkh  (D)  All of the above 
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42. mRiknu dh yksp ‘kwU; gksrh gS] tc gksrk gS % 
 

42. The EP is zero when : 

(A) vf/kdre vkSlr HkkSfrd mRiknu  (A) APP is maximum 

(B) vf/kdre lhekar HkkSfrd mRiknu  (B)  MPP is maximum 

(C) lhekar HkkSfrd mRiknu ‘kwU;  (C)  MPP is zero 

(D) vkSlr HkkSfrd mRiknu ‘kwU;  (D)  APP is zero 

43. leksRikn js[kk js[kh; gksrh gS] tc lk/ku gksrs 

gSa % 

 
43. Isoquants are linear, when the resources 

are : 

(A) izfrLFkkukiUu  (A) Substitute 

(B) iw.kZ izfrLFkkukiUUk  (B)  Perfect substitute 

(C) lEiwjd  (C)  Complements 

(D) iw.kZr;k lEiwjd  (D)  Perfect complements 

44. fuEufyf[kr esa ls dkSu&lk d`f”k dk ewyHkwr 

fu;e gS \ 

 
44. Which of the following is the basic law of 

agriculture ? 

(A) ?kVrs gqbZ lhekar mi;ksfxrk dk fu;e  (A) Law of diminishing marginal utility 

(B) le&lhekar mi;ksfxrk dk fu;e  (B)  Law of equimarginal utility 

(C) ykxr fl)kUr  (C)  Cost principle 

(D) c<+rs gq, izfrQy dk fu;e  (D)  Law of increasing return 

45. vYidky esa vkSlr LFkk;h ykxr oØ gksrk  

gS % 

 
45. The short-run average fixed cost curve  

is :  

(A) ges’kk uhps dh rjQ <ky  (A) Always downward sloping 

(B) mRifŸk LFkku ls ‘kq: gksrk gS vkSj Åij 

dh rjQ c<+rk gS 

 (B)  Starts at the origin and always 

slopes upward 

(C) mRifŸk LFkku ds Åij ls ‘kq: gksrk gS 

vkSj ges’kk Åij dh rjQ c<+rk gS 

 (C)  Starts above the origin and always 

slopes upward 

(D) ,d {kSfrt js[kk tks y&v{k dks dkVrh gS  (D)  A horizontal line intersecting the 

vertical axis 
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46. tc dqy ykxr dk dqy mRiknu dh ek=k ls 

Hkkx fn;k tkrk gS] rks ;g dgykrh gS % 

 
46. When total cost is divided by total 

quantity of production, it is called : 

(A) lhekar ykxr  (A) Marginal cost 

(B) vkSlr ykxr  (B)  Average cost 

(C) volj ykxr  (C)  Opportunity cost 

(D) Mwch gqbZ ykxr  (D)  Sunk cost 

47. ,d ykxr oØ tks “U” ds vkdkj dk dHkh 

ugha gks ldrk % 

 
47. A curve that can never be “U” shaped is 

the : 

(A) vkSlr py ykxr oØ  (A) AVC curve 

(B) lhekar ykxr oØ  (B)  MC curve 

(C) vkSlr dqy ykxr oØ  (C)  ATC curve 

(D) vkSlr LFkk;h ykxr oØ  (D)  AFC curve 

48. volj ykxr dh vo/kkj.kk fdlds }kjk izLrqr 

dh x;h \ 

 
48. The concept of opportunity cost was 

introduced by : 

(A) ts- ,l- fey  (A) J. S. Mill 

(B) ts- ,e- dhUl  (B)  J. M. Keynes 

(C) vYÝsM ek’kZy  (C)  Alfred Marshall 

(D) fjdkMksZ  (D)  Ricardo 
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49. tgk¡ lhekar ykxr oØ vkSlr ykxr oØ dks 

dkVrk gS] rks vkSlr ykxr oØ gS % 

 
49. The MC curve intersects the AC curve, 

when the AC curve is : 

(A) fxj jgk  (A) Falling 

(B) c<+ jgk  (B)  Rising 

(C) U;wure   (C)  Minimum 

(D) vf/kdre  (D)  Maximum 

50. mRiknu dh yksp dks O;Dr fd;k tkrk gS % 
 

50. Elasticity of production is expressed as : 

(A) lwpdkad ds :i esa  (A) Index 

(B) fDoaVy ds :i esa  (B)  Quintal 

(C) izfr’kr ds :i esa  (C)  Percentage 

(D) dksbZ bdkbZ ugha  (D)  No units 

51. dkWc&Mxyl mRiknu Qyu esa mRiknu dh 

yksp dk ifj.kke gS % 

 
51. The summation of elasticity of production 

in a Cobb-Douglas production function 

results in : 

(A) 2 1

1 2

P

P

y y

y y





  

 
(A) 2 1

1 2

P

P

y y

y y





  

(B) 2

1

y

y




  

 
(B) 2

1

y

y




  

(C) i ia b    (C) i ia b   

(D) ib    (D) ib   

52. tc vkSlr HkkSfrd mRiknu c<+ jgk gS % 
 

52. When APP is increasing : 

(A) MPP > APP  (A) MPP > APP 

(B)  MPP < APP  (B)  MPP < APP 

(C)  MPP = APP  (C)  MPP = APP 

(D) vf/kdre dqy HkkSfrd mRiknu  (D)  TPP is maximum 
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53. tc vkSlr HkkSfrd mRiknu ?kV jgk gS % 
 

53. When APP is decreasing : 

(A) MPP > APP  (A) MPP > APP 

(B)  MPP < APP  (B)  MPP < APP 

(C)  MPP = APP  (C)  MPP = APP 

(D) vf/kdre dqy HkkSfrd mRiknu  (D)  TPP is maximum 

54. tc dqy HkkSfrd mRiknu 0 ] vkSlr HkkSfrd 

mRiknu gS % 

 
54. When TPP = 0, APP is : 

(A) ‘kwU; ls de  (A) Less than Zero 

(B) vf/kdre  (B)  Maximum 

(C) U;wure  (C)  Minimum 

(D) ‘kwU;  (D)  Zero 

55. tc lhekar HkkSfrd mRiknu c<+ jgk gksrk gS] 

rks vkSlr HkkSfrd mRiknu gksrk gS % 

 
55. When MPP is increasing, APP : 

(A) vf/kdre  (A) Maximum 

(B) U;wure  (B)  Minimum 

(C) c<+rk gS  (C)  Increases 

(D) ?kVrk gS  (D)  Decreases 

56. mRiknu mRiUu djrk gS % 
 

56. Production creates : 

(A) :i mi;ksfxrk  (A) Form utility 

(B) LFkku mi;ksfxrk  (B)  Place utility 

(C) le; mi;ksfxrk  (C)  Time utility 

(D) LokfeRo mi;ksfxrk  (D)  Possession utility 
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57. ,slh vkxrsa ftUgsa ,d fuf’pr vuqikr esa iz;ksx 

djus ls mRiknu esa o`f) gksrh gS] os dgykrh  

gSa % 

 
57. Inputs which increase the output when 

combine in fixed proportion are  

called : 

(A) laiwjd  (A) Complements 

(B) iwjd  (B)  Supplements 

(C) izfrLFkkukiUu  (C)  Substitutes 

(D) mi;qZDRk esa ls dksbZ ugha  (D)  None of the above 

58. fuEufyf[kr esa ls dkSu Li”V ykxr gS \ 
 

58. Which of the following is an explicit  

cost ? 

(A) moZjd  (A) Fertilizer 

(B) QkeZ ikfjokfjd Je  (B)  Farm family labour 

(C) ?kj ;k QkeZ ls izkIr cht  (C)  Retained seed  

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

59. fuEufyf[kr esa ls fdlesa izcU/kdh; lsok dks 

fgLlk ds :i esa tksM+k tkrk gS \ 

 
59. Which of the following costs includes 

managerial services components ?  

(A) ykxr A1  (A) Cost A1 

(B) ykxr B1  (B)  Cost B1 

(C) ykxr C2  (C)  Cost C2 

(D) ykxr B2  (D)  Cost B2 

60. mRiknu ,d Qyu gksrk gS % 
 

60. Production is a function of : 

(A) ykxr dk  (A) Cost 

(B) dkjdksa dk  (B)  Factors 

(C) dher dk  (C)  Price 

(D) ykHk dk  (D)  Profit 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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